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<Part |, Problem 1 Solution

The computer science students love logic. (C)

C
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WPart | Problem 2 Solution

Either the journalism or the business students

love logic. (J, B)
JvB
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Part |, Problem 3 Solution

The business students do not hate logic, but
theyloveit. (H, L)

~H& L
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Part |, Problem 4 Solution

Ifthe journalism StlldCIltS dO not lOVC lOgiC, thCIl thC

logic professor is sad. (J, P)
~]—DP
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Part |, Problem 5 Solution

The journalism or the business stcudents love logic,

and the logic professor is happy. (], B, P)
(JvB) &P
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Part Il Problem 1 Solution

Journalism and business students do not both

love logic. (J, B)

(& B
(J&B)
not  both

The "not” comes before the “both’ which means that
we have a negation ("not”) applied to a conjunction
("both”). So the tilda comes outside the parentheses.
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WPart Il Problem 2 Solution

Journalism and business students both do not

love logic. (J, B)
Nfl & ~B
both  ~not

The “both” comes before the “not, which means that
we have a conjunction (“both”) applied to two things

that are each being negated ("not”) separately.

Workshop on Translating Natural Language and (reating Truth Tables—Introduction to Logical Reasoning—David Emmanuel Gray



Part Il Problem 3 Solution

nace money or tl

[t is not the case that either business students

1€ COInPlltCl' sclence StUdCHtS

B,C)

hate numbers. (.

~(Bv C)

/'\—\ﬁ/

not either

The “either/or” treats puts the two disjunets together

(between parentheses). Since the negation comes

before this disj unction, It negates the whole thing.
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Part Il Problem 4 Solution

nace money or tl

Either itis not the case that business scudents

hate numbers. (.

he computer science students
B, C)
~BvVv C
either not

TI' cat anythlng thWCCH ClthCr and OI' dS thC ﬁl’ SC

dlSJU.IlCt. Anythmg after OI’ 1S thC SCCOHd diSjU,IlCt.

So the negation

only applies to the first disjunct.
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Part Il Problem 5 Solution

If the logie professor teaches well then the
journalism students do not commit fallacies

and the business students reason clearly. (P ], B)

P — (-] &B)

o/

Everything foilowing the “then” is part of the

consequent of this main hypothetical statement.
So the entire consequent, which is a conjunetion

("and”), is put inside a set of parentheses.
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Part Il Problem 6 Solution

If the logic professor teaches well then the joumalism

students do not commit fallacies, and the business

students reason clearly.
P—-~])&B

In tlllS Casc, tllC usc Oftll@ coImima tCllS us WllCIl thC

hypothetical 1S ﬁnisaed, SO We can put it inside a set of

rﬂ

P&fCchCSCS What OllOWS 1sa SCCOIld COIljU.IlCt

( 210 ) makmg tllC hypothencal tllC ﬁI'St COIlJllIlCt
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<Part Il Problem 1 Solution

g pV~q ~(pV~q)
FT ;

P4
T T

T F T T ;
F T F  F T
FF T T ;

Thisis a Contingent statement because it can be true

(asin line 3) and it can be false (asin lines 1, 2, and 4).
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«Part Il Problem 2 Solution

~r p&q rV~r (p&q)(rV-~r)
: — —

1 —

R o R R R e I A
n 4 T~ M M N

— M 4 M < T —
Ll

Thisis a tautology because it is always true.
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Part Il Problem 3 Solution

P 9 ~q ~p p&~q p&~q) ~p
T T F F F T
T F T F T F
F T F T F T
FF T T F T

This isa contingent statement because it can be true

(asin lines 1, 3, and 4) and it can be false (asin line 2.).
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Next Class. ..

You Wlll 16211’ N hOW to usc tr llth tables O assess thC

deductive Validity of an argument.
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